Configurations

 DECAY=300mV (30%fast)
« TRQ=0

. Mi1=1

e MO0=Z

* DIR=0

o STEP=3.3V/1KHz*

« ENABLE=1
 NSLEEP=1
 RREF=30KQ to GND

« VM=24V DC

*The motor in the lab cannot handle 5.05kHz Step
frequency.



ﬁ File ¥ Vertical 4= Timebase r Trigger = Display # Cursors El Measure @@ Math ||=2 Analysis X Utilities @ Support

| Peak=1.09A

+

/' LaouTi

|
|
|
|
|
|
|
|
|
)

P1:max(C4) P2:min{C4) P3:max(C1) Pdfreq(C1) P5:period(C1) P&:duty(C1) PTfreq(C2)
1.092A -1.102A 2438V — — —
v v v Fiy R R 'S

[C1] DCIM Bwl DC Timebase 00ms Trigger C10C
10.0 Vidiv 1.00 Addiv 5.00 ms/div |Stop 49V
0 mV offset -500.0 mA 5MS 100 MS/s |Edge Megative
1 23723V |} -5.1 mA X1= 1000ps AX= 00ps

t 23723V ¢ -5.1 mA X2= 100.0ys 1AX= =
Ly omv Ay 0.0 mA

TELEDYNE LECROY 111812019 12:10:03 PM




ﬁ File ¥ Vertical 4= Timebase r Trigger = Display # Cursors

|_Peak=1.11A

P1:max(C4) P2:min{C4)
1.110A -1.118A
v v
BwL DC

1.00 Addiv
-500.0 mA

DAk
5.00 Vidiv
-r.200v

TELEDYNE LECROY

C4

El Measure

P3:max(C1)
2459V
v

B Math

L_AOUTY

|~ Analysis

Y
Pd:max(C1)
245859V
v

X Utilities

® Support

P5:min{C1) PE:duty(C1) PTfreq(C2)

2318V G66.747 % —

v R [
Timebase 0.0 ms Trigger
5.00 ms/div |Stop 485V
100 MS/s |Edge Megative

11182019 12:35:25 PM

C1/DC

5MS




ﬁ File ¥ Vertical 4= Timebase r Trigger = Display # Cursors

VM=24V

ALLL

i LA

1L Lilalnibgn b
TN kb

| Peak=1.12A

A

P1:max(C4) P2:min{C4)

1120A -1128A

v v
[C1] peiM [ T
5.00 Vidiv 1.00 Addiv
7200V -500.0 mA

TELEDYNE LECROY

\\\w.w.

PTfreq(C2)

'
Timebase 0.00ms Trigger C1 DC

2.00ms/div |Stop 485V
5MS 250 MS/s |Edge Megative

111182019 12:50:11 PM




